

SIMILARITY SOLUTIONS IN A CLASS OF THAWING PROCESSES

A. FASANO* and M. PRIMICERIO

*Dipartimento di Matematica "U. Dini", Università di degli Studi di Firenze,
Viale Morgagni 67/A, 50134 Firenze, Italy*

D. TARZIA

*Depto. Matemática, FCE, Univ. Austral, Paraguay 1950,
2000 Rosario, Argentina
and*

*PROMAR, Inst. Matemática "B. Levi, Av. Pellegrini 250,
2000 Rosario, Argentina*

Communicated by G. P. Galdi
Received 14 July 1997

A study on similarity solutions for a mathematical model for thawing in a saturated porous medium is considered when change of phase induces a density jump and the influence of pressure on the melting temperature is considered. The mathematical analysis is made for different cases, depending on the sign of the three physical parameters.

1. Introduction

In this paper we consider the problem of thawing of a partially frozen porous medium, saturated with an incompressible liquid, with the aim of constructing similarity solutions.

More specifically we deal with the following situations (for a detailed exposition of the physical background we refer to Ref. 6):

- (i) a sharp interface between the frozen part and the unfrozen part of the domain exists (sharp, in the macroscopic sense);
- (ii) the frozen phase is at rest with respect to the porous skeleton, which will be considered to be undeformable;
- (iii) due to the density jump between the liquid and solid phases, thawing can induce either desaturation or water movement in the melting region. We will consider the latter situation, assuming that liquid is continuously supplied to keep the medium saturated.

*E-mail: fasano@udini.math.unifi.it

Although thawing has received less attention than freezing, our investigation is in the same spirit as Nakano^{4,7} (see also Refs. 10 and 11 for further references) with the simplification due to the absence of ice lenses and frozen fringes.

The unknowns of the problem are a function $x = s(t)$, representing the free boundary separating $Q_1 \equiv \{(x, t) : 0 < x < s(t), t > 0\}$ and $Q_2 \equiv \{(x, t) : s(t) < x, t > 0\}$, and the two functions $u(x, t)$ and $v(x, t)$ defined in Q_1 and Q_2 respectively, representing the temperature of the unfrozen and of the frozen zone. Besides standard regularity requirements, $s(t)$, $u(x, t)$ and $v(x, t)$ fulfil the following conditions (we refer to Ref. 5 for a detailed explanation of the model):

$$u_t = a_1 u_{xx} - b \rho \dot{s}(t) u_x, \quad \text{in } Q_1 \quad (1.1)$$

$$v_t = a_2 v_{xx}, \quad \text{in } Q_2 \quad (1.2)$$

$$u(s(t), t) = v(s(t), t) = d \rho s(t) \dot{s}(t), \quad t > 0, \quad (1.3)$$

$$k_F v_x(s(t), t) - k_U u_x(s(t), t) = \alpha \dot{s}(t) + \beta \rho s(t) \dot{s}^2(t), \quad t > 0, \quad (1.4)$$

$$u(0, t) = B > 0, \quad t > 0 \quad (1.5)$$

$$v(x, 0) = v(+\infty, t) = -A < 0, \quad x > 0, t > 0, \quad (1.6)$$

$$s(0) = 0, \quad (1.7)$$

with

$$\begin{cases} a_1 = \alpha_1^2 = \frac{k_U}{\rho_U c_U}, & a_2 = \alpha_2^2 = \frac{k_K}{\rho_F c_F}, & b = \frac{\varepsilon \rho_W c_W}{\rho_U c_U}, \\ d = \frac{\varepsilon \gamma \mu}{K}, & \rho = \frac{\rho_W - \rho_I}{\rho_W}, & \alpha = \varepsilon \rho_I \lambda, \\ \beta = \frac{\varepsilon^2 \rho_I (c_W - c_I) \gamma \mu}{K} = \varepsilon d \rho_I (c_W - c_I), \end{cases} \quad (1.8)$$

where

$$\left\{ \begin{array}{l} \varepsilon > 0 : \text{porosity, } \rho_W \text{ and } \rho_I > 0 : \text{density of water and ice (g/cm}^3\text{),} \\ c > 0 : \text{specific heat at constant density (cal/g}^\circ\text{C),} \\ k_U \text{ and } k_F > 0 : \text{conductivity of the unfrozen and frozen zones} \\ \quad \text{(cal/s cm}^\circ\text{C),} \\ u : \text{temperature of the unfrozen zone (}^\circ\text{C),} \\ v : \text{temperature of the frozen zone (}^\circ\text{C), } u = v = 0 \text{ being the} \\ \quad \text{melting point at atmospheric pressure,} \\ \lambda > 0 : \text{latent heat at } u = 0 \text{ (cal/g),} \\ \gamma : \text{coefficient in the Clausius-Clapeyron law (s}^2\text{cm}^\circ\text{C/g),} \\ \mu > 0 : \text{viscosity of liquid (g/s cm),} \\ K > 0 : \text{hydraulic permeability (cm}^2\text{),} \\ B > 0 : \text{boundary temperature at the fixed face } x = 0 \text{ (}^\circ\text{C),} \\ -A < 0 : \text{initial temperature (}^\circ\text{C).} \end{array} \right. \quad (1.9)$$

Remark 1.1. We recall the Clausius–Clapeyron law on the dependence of melting temperature upon pressure, which, in the presence of capillarity has the form⁸

$$\frac{\pi}{\rho_I} + p \frac{\rho}{\rho_I} = -\lambda \frac{T - T_0}{T_0}. \quad (1.10)$$

In (1.10) π is the capillarity at the interface, T is the absolute temperature, and T_0 is the melting point under normal conditions ($^{\circ}\text{C}$), and p is the pressure of the liquid phase ($p = 0$ being the atmospheric pressure).

The usual Clapeyron law corresponds to setting $\pi = 0$, thus implying that

$$u(s(t), t) = v(s(t), t) = -\gamma p(s(t), t), \quad (1.11)$$

where $\gamma = \rho T_0 / \rho_I \lambda$ has the same sign as ρ .

On the other hand, if the frozen region is in equilibrium with the environment at atmospheric pressure, $\pi = -p$ and (1.10) still lead to (1.11), but with

$$\gamma = \frac{T_0}{\rho_W \lambda}, \quad (1.12)$$

which is always positive.

In the following we will use (1.11) with no sign restriction on γ .

Remark 1.2. In order to fulfil (1.3), a pressure gradient is needed. Darcy's law implies that p_x is independent of x and, assuming that $p(0, t) = 0$, we obtain

$$p(s(t), t) = -\frac{\varepsilon \rho \mu}{K} s(t) \dot{s}(t), \quad t > 0, \quad (1.13)$$

and hence, substituting (1.13) into (1.11), we obtain (1.3).

Remark 1.3. The free boundary problem (1.1)–(1.7) reduces to the usual Stefan problem when $d\rho = 0$, since in that case we have the classical Stefan condition on $x = s(t)$:

$$u(s(t), t) = v(s(t), t) = 0, \quad t > 0, \quad (1.3')$$

$$k_F v_x(s(t), t) - k_U u_x(s(t), t) = \alpha \dot{s}(t), \quad t > 0. \quad (1.4')$$

For this reduced problem a similarity solution (often referred to as Neumann's solution) is known.^{2,9,12,13} From now on we assume that $d\rho \neq 0$.

2. Similarity Solutions

Now, we will look for similarity solutions to problem (1.1)–(1.7) by considering eight different cases depending on the sign of the parameters ρ , β and d (or equivalently of γ). Our results include the cases considered in Refs. 3 and 5.

First of all we note that the function

$$u(x, t) = \phi(\eta) \quad \text{with} \quad \eta = \frac{x}{2\alpha_1 \sqrt{t}} \quad (2.1)$$

is a solution of Eq. (1.1) if and only if ϕ satisfies the following equation:

$$\frac{1}{2}\phi''(\eta) + \left(\eta - \frac{b\rho}{\alpha_1}s(t)\sqrt{t}\right)\phi'(\eta) = 0. \quad (2.2)$$

If we assume

$$s(t) = 2\xi\alpha_1\sqrt{t} \quad (2.3)$$

we obtain that

$$\phi(\eta) = C_1 + C_2 \int_0^\eta \exp(-r^2 + 2b\rho\xi r) dr, \quad (2.4)$$

where ξ , C_1 and C_2 are constant values.

A solution of (1.1), (1.2) and (1.6) is given by (2.3) and

$$u(x, t) = C_1 + C_2 \int_0^{x/(2\alpha_1\sqrt{t})} \exp(-r^2 + 2b\rho\xi r) dr, \quad (2.5)$$

$$v(x, t) = C_3 + C_4 \operatorname{erf}\left(\frac{x}{2\alpha_2\sqrt{t}}\right), \quad (2.6)$$

where erf is the error function defined as

$$\operatorname{erf}(x) = \frac{2}{\sqrt{\pi}} \int_0^x \exp(-r^2) dr, \quad \operatorname{erfc}(x) = 1 - \operatorname{erf}(x), \quad (2.7)$$

and C_1 , C_2 , C_3 , C_4 and ξ are constant values to be determined.

From conditions (1.3), (1.5) and (1.6) we deduce that

$$C_1 = B, \quad C_2 = \frac{2d\rho\alpha_1^2\xi^2 - B}{g(2b\rho, \xi)}, \quad (2.8)$$

$$C_3 = \frac{2d\rho\alpha_1^2\xi^2 + A \operatorname{erf}(\alpha_1\xi/\alpha_2)}{\operatorname{erfc}(\alpha_1\xi/\alpha_2)}, \quad C_4 = -\frac{2d\rho\alpha_1^2\xi^2 + A}{\operatorname{erfc}(\alpha_1\xi/\alpha_2)}, \quad (2.9)$$

where $g = g(p, y)$ is defined by

$$g(p, y) = \int_0^y \exp(pyr - r^2) dr. \quad (2.10)$$

Therefore, the similarity solution is completely determined once the constant ξ is chosen. This is done by imposing condition (1.4) which yields that ξ is a root of the following equation:

$$K_1(B - my^2)H(p, y) - K_2F(m, y) = \delta y + \nu y^3, \quad y > 0, \quad (2.11)$$

where

$$H(p, y) = \frac{\exp((p-1)y^2)}{(2\sqrt{\pi})g(p, y)} \quad (2.12)$$

and

$$F(m, y) = (A + my^2) \frac{\exp(-\gamma_0^2 y^2)}{\operatorname{erfc}(\gamma_0 y)} \quad (2.13)$$

and the constants $K_1, K_2, \gamma_0, \delta, p, m$ and ν are defined as follows:

$$K_1 = \frac{k_U}{\alpha_1 \sqrt{\pi}} > 0, \quad K_2 = \frac{k_F}{\alpha_2 \sqrt{\pi}} > 0, \quad \gamma_0 = \frac{\alpha_1}{\alpha_2} > 0, \quad \delta = \alpha \alpha_1 > 0, \quad (2.14)$$

$$p = 2b\rho, \quad m = 2d\rho\alpha_1^2, \quad \nu = 2\beta\rho\alpha_1^3. \quad (2.15)$$

Then, we have obtained

Theorem 2.1. *The free boundary problem (1.1)–(1.7) has the similarity solution*

$$s(t) = 2\xi\alpha_1\sqrt{t}, \quad (2.16)$$

$$u(x, t) = B + \frac{m\xi^2 - B}{g(p, \xi)} \int_0^{x/(2\alpha_1\sqrt{t})} \exp(-r^2 + p\xi r) dr, \quad (2.17)$$

$$v(x, t) = \frac{m\xi^2 \operatorname{erfc}\left(\frac{x}{2\alpha_2\sqrt{t}}\right) + A \left(\operatorname{erf}(\gamma_0\xi) - \operatorname{erf}\left(\frac{x}{2\alpha_2\sqrt{t}}\right) \right)}{\operatorname{erfc}(\gamma_0\xi)} \quad (2.18)$$

if and only if the coefficient $\xi > 0$ satisfies Eq. (2.11).

3. Preliminary Results

To analyze (2.11) in the different cases, we need to study the properties of the functions involved. First, we consider F , defined by (2.13) where A and γ_0 are given positive constants, while m can be positive or negative. We have

Proposition 3.1. *If $m > 0$, then F grows from A to $+\infty$ when y grows from 0 to $+\infty$ and it tends to $+\infty$ like $\sqrt{\pi}\gamma_0 m y^3$. If $m < 0$, F grows from A to a positive maximum, then it decreases to $-\infty$ like $\sqrt{\pi}\gamma_0 m y^3$.*

Proof. The first part is trivial. To prove the second part of the proposition, we only have to show that the derivative $F'(y)$ has only one zero. Setting $z = \gamma_0 y$, it is easy to see that the equation

$$[\sqrt{\pi} z \exp(z^2) \operatorname{erfc}(z)]^{-1} = 1 + \frac{|m|}{\gamma_0^2 A - |m| z^2}, \quad z \neq \gamma_0 \sqrt{\frac{A}{|m|}} \quad (3.1)$$

has one unique root, since the L.H.S. increases from $1 - m/(A\gamma_0)^2$ to $+\infty$ as z goes from 0 to $\gamma_0 \sqrt{A/|m|}$. \square

Now we study $g(p, y)$ defined by (2.10) or by its equivalent form¹

$$\frac{2}{\sqrt{\pi}} g(p, y) = \exp\left(\frac{p^2 y^2}{4}\right) \left(\operatorname{erf}\left(\frac{py}{2}\right) + \operatorname{erf}\left(\frac{(2-p)y}{2}\right) \right), \quad p \in \mathbf{R}, \quad y > 0. \quad (3.2)$$

When $p > 0$, we have from elementary calculation:

Proposition 3.2. *For all $p > 0$, we have*

$$g(p, y) \geq \frac{1}{py} (\exp((p-1)y^2) - \exp(-y^2)), \quad y > 0, \quad (3.3)$$

$$g_y(p, y) \geq \exp((p-1)y^2) + \frac{p}{2} (1 - \exp(-y^2)), \quad y > 0, \quad (3.4)$$

$$g(p, 0) = 0, \quad g_y(p, 0) = 1, \quad g(p, +\infty) = +\infty. \quad (3.5)$$

From Proposition 3.2 and (2.12), we immediately have

Proposition 3.3. *For all $p > 0$, the function $H(p, y)$ has the following properties:*

$$\lim_{y \rightarrow 0} H(p, y) = +\infty, \quad \forall p > 0; \quad (3.6)$$

$$\lim_{y \rightarrow +\infty} H(p, y) = \begin{cases} 0 & \text{if } 0 < p < 2, \\ 1 & \text{if } p = 2, \\ +\infty & \text{if } p > 2; \end{cases} \quad (3.7)$$

$$\lim_{y \rightarrow +\infty} \frac{y}{H(p, y)} = \frac{2}{(p-2)\sqrt{\pi}}, \quad \forall p > 2; \quad (3.8)$$

$$\lim_{y \rightarrow +\infty} y^2 H(p, y) = \begin{cases} 0 & \text{if } 0 < p < 2, \\ +\infty & \text{if } p \geq 2; \end{cases} \quad (3.9)$$

$$\frac{\partial H}{\partial y}(p, y) < 0, \quad \forall y > 0, \quad \forall 0 < p \leq 2. \quad (3.10)$$

In order to study $H(p, y)$ for $p < 0$, it is useful to introduce the variable

$$q = -p/2, \quad (3.11)$$

and to write

$$H(p, y) = \exp(-(1+q)^2 y^2) [\operatorname{erf}((1+q)y) - \operatorname{erf}(qy)]^{-1}, \quad (3.12)$$

$$y > 0, \quad q = -p/2 > 0.$$

The proofs of the propositions that follow are based on elementary though lengthy calculations which will not be reproduced here. If we denote by $N(q, y)$ the function in square brackets in (3.12), we have

Proposition 3.4. *Function N has the following properties for any $q > 0$:*

$$N(q, 0) = 0, \quad \lim_{y \rightarrow +\infty} N(q, y) = 0, \quad (3.13)$$

$$\frac{2y}{\sqrt{\pi}} \exp(-(1+q)^2 y^2) \leq N(q, y) \leq \frac{2y}{\sqrt{\pi}} \exp(-q^2 y^2), \quad \forall y > 0, q > 0, \quad (3.14)$$

$$\frac{\partial N}{\partial y}(q, y) \begin{cases} > 0 & \text{if } 0 < y < \bar{y}(q), \\ = 0 & \text{if } y = \bar{y}(q), \\ < 0 & \text{if } y > \bar{y}(q), \end{cases} \quad (3.15)$$

$$\frac{\partial^2 N}{\partial y^2}(q, y) = 0 \Leftrightarrow y = \sqrt{3}\bar{y}(q), \quad (3.16)$$

where \bar{y} corresponds of the maximum of $\partial N / \partial y$ for fixed q , i.e.

$$\bar{y}(q) = \sqrt{\frac{\log(1+1/q)}{1+2q}}. \quad (3.17)$$

Consequently, we have

Proposition 3.5. *For any $p < 0$, function H has the following properties:*

$$\lim_{y \rightarrow 0} H(p, y) = +\infty, \quad \forall p > 0 \quad \lim_{y \rightarrow +\infty} H(p, y) = 0, \quad (3.18)$$

$$\frac{\partial H}{\partial y}(p, y) < 0, \quad \forall y > 0, \quad (3.19)$$

$$\frac{\sqrt{\pi}}{2} \frac{\exp(-(1+2q)y^2)}{y} \leq H(p, y) \leq \frac{\sqrt{\pi}}{2y}, \quad \forall y > 0, \quad (3.20)$$

$$\lim_{y \rightarrow +\infty} y^2 H(p, y) = 0. \quad (3.21)$$

At this point, we use Propositions 3.3 and 3.5 to study the behavior of the first term on the L.H.S. of Eq. (2.11). Setting for convenience

$$I(y) = (B - my^2)H(p, y), \quad (3.22)$$

we have

Proposition 3.6. *For every value of constants m and p we have*

$$\lim_{y \rightarrow +0} I(y) = +\infty. \quad (3.23)$$

Moreover

(i) if $m > 0$, $y_0 = \sqrt{B/m}$ is such that

$$I(y_0) = 0, \quad I(y) \leq 0, \quad \forall y \geq y_0 \quad (3.24)$$

and

(a) if $p < 2$, then $I'(y) < 0$ in $(0, y_0)$ and $\lim_{t \rightarrow +\infty} I(y) = 0$,

(b) if $p > 2$, then $\lim_{t \rightarrow +\infty} I(y) = -\infty$, and $I(y) \simeq -m(p/2 - 1)\sqrt{\pi}y^3$,

(c) if $p = 2$, then $I'(y) < 0$ in $(0, y_0)$, $\lim_{t \rightarrow +\infty} I(y) = +\infty$, and $I(y) \simeq -my^2$.

(ii) if $m < 0$,

- (a) if $p < 2$, then $\lim_{t \rightarrow +\infty} I(y) = 0$,
- (b) if $p > 2$, then $\lim_{t \rightarrow +\infty} I(y) = +\infty$, and $I(y) \simeq -m(p/2 - 1)\sqrt{\pi}y^3$,
- (c) if $p = 2$, then $\lim_{t \rightarrow +\infty} I(y) = +\infty$, and $I(y) \simeq -my^2$.

4. Similarity Solutions

Now we are in a position to discuss the solvability of (2.11), which we rewrite as follows:

$$K_1 I(y) - K_2 F(y) = \delta y + \nu y^3, \quad y > 0. \quad (4.1)$$

It will be convenient to denote by q_i , $i = 1, 2, \dots, N$ the zeroes of the L.H.S. of (4.1), if they exist, i.e.

$$K_1 I(q_i) - K_2 F(q_i) = 0, \quad i = 1, 2, \dots, N. \quad (4.2)$$

First we consider the case $m > 0$ and we prove

Theorem 4.1. *If $m > 0$ and $\nu \geq 0$, (4.1) always admits solutions. Moreover,*

- (a) *if $p \leq 2$, there exists a unique ξ satisfying (4.1),*
- (b) *if $p > 2$, there is one and only one solution ξ in $(0, q_1)$.*

Proof. The theorem is a straightforward consequence of the results of Sec. 3. We note that the monotonicity of both sides of (4.1) guarantees uniqueness in case (a) and that Proposition 3.6(i) yields the following inequality:

$$\xi < q_1 < y_0 = \sqrt{\frac{B}{m}}. \quad (4.3)$$

Result (b) is weaker since the monotonicity of $I(y)$ is no longer guaranteed. \square

Next, we have

Theorem 4.2. *If $m > 0$, $\nu < 0$, a solution to (4.1) exists whenever*

$$\frac{B}{m} < \frac{\delta}{|\nu|}. \quad (4.4)$$

Proof. It is sufficient to recall that q_1 is always less than y_0 and that the R.H.S. of (4.1) is positive in $(0, \sqrt{\delta/|\nu|})$. \square

Remark 4.3. It is obvious that (4.4) can be replaced by the weaker requirement

$$q_1 < \sqrt{\frac{\delta}{|m|}}, \quad (4.4')$$

but we preferred to state Theorem 4.2 as above, since (4.4) involves explicitly the parameters entering the model.

Remark 4.4. Under some additional requirements, it can be seen that no more than one solution exists in the interval $(0, q_1)$. This is true, e.g. if $p > 2$ and

$$q_1 < \sqrt{\frac{\delta}{3|m|}}, \quad (4.5)$$

where the R.H.S. of (4.5) is the abscissa of the maximum of the function on the R.H.S. of (4.1).

Remark 4.5. If (4.4) is not satisfied, examples of non-existence of a solution can actually be found.

Now we consider cases in which $m < 0$.

Theorem 4.6. If $m < 0$, $\nu \geq 0$, sufficient conditions for the existence of solutions are the existence of a root of (4.2) or

$$\nu > \left(K_1 \left(\frac{p}{2} - 1 \right)^+ + K_2 \gamma_0 \right) |m| \sqrt{\pi}, \quad (4.6)$$

where $()^+$ denotes the positive part of the quantity in bracket.

Proof. It is sufficient to note that (4.6) guarantees that, as $y \rightarrow +\infty$, the L.H.S. of (4.1) tends to $+\infty$ slower than the R.H.S. (see Proposition 3.6(ii) and Proposition 3.1). The first case is obvious. \square

Now, we pass to consider the last case. The proof of the following theorem is trivial.

Theorem 4.7. If $m < 0$, $\nu < 0$ (4.1) has at least two solutions if (4.2) has roots and

$$q_1 < \sqrt{\frac{\delta}{|\nu|}}. \quad (4.7)$$

Remark 4.8. When $c_w \neq c_I$, the temperature

$$u^* = \frac{\lambda}{c_I - c_w} \quad (4.8)$$

is the intersection of the two lines representing the energy of the solid and the liquid as a function of temperature.

We note that the similarity solution is such that

$$u(s(t), t) = v(s(t), t) = m\xi^2. \quad (4.9)$$

Therefore it seems appropriate to say that a similarity solution is physically acceptable if

$$\begin{aligned} m\xi^2 &< \frac{\lambda}{c_I - c_w} & \text{when } c_I > c_w, \\ m\xi^2 &> \frac{\lambda}{c_I - c_w} & \text{when } c_I < c_w, \end{aligned}$$

i.e.

$$2d\rho\alpha_1^2(c_I - c_w)\xi^2 < \lambda. \quad (4.10)$$

- (I) If $d\rho > 0$ and $c_I < c_w$ (i.e. $m > 0$, $\nu > 0$) (4.10) is always satisfied and hence all solutions whose existence is guaranteed by Theorem 4.1 (with no restrictions on the data and the coefficients) are physically acceptable.
- (II) If $d\rho > 0$ and $c_I > c_w$ (i.e. $m > 0$, $\nu < 0$) condition (4.4) of Theorem 4.2 guarantees that at least a solution exists such that (4.10) is satisfied.
- (III) If $d\rho < 0$ and $c_I < c_w$ (i.e. $m < 0$, $\nu > 0$) (4.10) is always satisfied. Although Theorem 4.6 does not guarantee existence for any value of the parameters, nevertheless it does not impose any restriction on the size of ξ .
- (IV) If $d\rho < 0$ and $c_w < c_I$ (i.e. $m < 0$, $\nu < 0$) condition (4.7) of Theorem 4.7 guarantees that at least a solution exists such that (4.10) is satisfied.

References

1. M. Abramowitz and I. Stegun, **Handbook of Mathematical Functions** (Dover, 1965).
2. H. S. Carslaw and J. C. Jaeger, **Conduction of Heat in Solids** (Clarendon Press, 1959).
3. Ch. Charach and I. Rubinstein, *Pressure-temperature effects in planar Stefan problems with density change*, *J. Appl. Phys.* **71** (1992) 1128–1137.
4. Z. Ding and F. Talamucci, *Primary frost heave: a quasi steady approach*, *Canad. Appl. Math. Quart.* **4** (1996).
5. A. Fasano, Z. Guan, M. Primicerio and I. Rubinstein, *Thawing in saturated porous media*, *Meccanica* **28** (1993) 103–109.
6. A. Fasano and M. Primicerio, *Freezing in porous media: a review of mathematical models*, in **Applications of Mathematics in Technology**, eds. V. Boffi and H. Neunzert, Teubner (1984), pp. 288–311.
7. Y. Nakano, *Quasi-steady problems in freezing soils. I. Analysis on the steady growth of an ice layer*, *Cold. Reg. Sci. Tech.* **17** (1990) 207–226.
8. K. O'Neill and R. D. Miller, *Explanation of a rigid ice model of frost heave*, *Wat. Resour. Res.* **21** (1985) 281–296.
9. L. Rubinstein, **The Stefan Problem**, *Translation of Mathematical Monographs*, Vol. 27 (AMS, 1971).
10. F. Talamucci, *Analysis of the coupled heat-mass transport in freezing porous media*, *Survey in Mathematics for Industry* **7** (1997) 93–139.
11. F. Talamucci, *Freezing processes in saturated soils*, *Math. Models Methods Appl. Sci.* **8** (1998) 107–138.
12. D. Tarzia, *Soluciones exactas del problema de Stefan unidimensional*, *Cuadern. Inst. Mat. Beppo Levi, Rosario* **12** (1984) 5–36.
13. H. Weber, *Die partiellen Differential-Gleichungen der Mathematischen Physik, nach Riemann's Vorlesungen*, t. II, Braunswchweig (1901) 118–122.